Week 5
Tuesday 21st April 2020
Year 5
Varied fluency
Click here for more information:
https://www.bbc.co.uk/bitesize/topics/zqr4jxs/articles/z4j88xs
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Make sure you give reasons for why you agree if something is true or false. 
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Kilograms and Kilometres

Kilograms and Kilometres

1a. Check each of the conversions and
correct any that are wrong.

9km=900m 20,0009 = 20kg

3,000g=30kg  8.0kg =8,000g
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1b. Check each of the conversions and
correct any that are wrong.

4,000m = 40km 1,009 = 1kg

6.0kg=6,000g  8kg=8,000g
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2a. Complete the table:

2b. Complete the table:

True or false? True o false?
3kg < 2,000 7,000g > 7kg

2kg < 4,000 3km = 30,000m

4km = 4,000m 9km > 900m

8,000m > 7km

ﬁ 6,000m > 6km
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Kilograms and Kilometres

5a. Check each of the conversions and
correct any that are wrong.

3,000m = 3.0km  700m = 7.0km
1.5km =1,500m  2.7kg = 27,0009
3,300g=3.3kg  1,100g=1.1kg
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5b. Check each of the conversions and
correct any that are wrong.

7.3kg = 7,300g 500m = 0.5km

4,900m = 49km 8.8kg = 8,800g

20,200m =2.0km  3,200m = 3.2km
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6a. Complete the table:

6b. Complete the table:

True or false? True o false?
3kg > 2,500g 7,000g > 6.5kg

27kg > 2,070g 3km = 30,000m

4.2km = 420m 9km > 900m

420m > 4.2km 6,000m > 6.1km
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Kilograms and Kilometres

9a. Check each of the conversions and
correct any that are wrong.

3,500m = 3.05km  560m = 0.56km

1.76km =1,760m  0.43kg = 4,300g

55109 =5.5Tkg 12,0609 = 12.06kg
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9b. Check each of the conversions and
correct any that are wrong.

7.03kg = 7,030g 120m = 0.12km

4,970m = 49.7km  0.23kg = 230g

30,300m = 33km  3,210m = 3.21km
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10a. Complete the table:

10b. Complete the table:

True or false?

True or false?

3.54Kg < 3,4509

9.01km < 9,100m

27.64kg < 26,7409

0.38km = 3,800m

3.02km = 3,020m

3.13kg < 3,140g

4,230m < 4.32km

3,410g < 3.43kg





